9 AfTEFE
BIINRIER=K

EHGER (8A31H~4RH)45% X 7

SEHEBTAMIMITT(LH)45% x 7

455> X 7

455> X 7

SF LA

W (BRDIES 4559 x 7). 2@ Z/KECOBER (~118) . HETvI XM+ (34F)

BETVYAMNIT (24)

Q[0 N | |G| ]W DN ]|~

BEITVIANTE) NFI—RGHAR [ (LH) 1 FES 7R (5-6RZUEDH)

—_
(=]

D= F—

—_
—_

—_
[\

THEWHE (34)

—_
w

._
S

—_
1

HRRES (FAIL 1-2-35)

J—
(o2}

—
-3

—
0

—
©

[\)
(=)

[\)
—

[\)
[\)

MoaDnE

[\l
w

EEPERGEREYS——FHE. Vb F—FvoR—2(~25R)

[\
~

[\)
Ol

[\)
[*2)

TEEHE (1E£-25-34F), Z/KLVERERED)

[N}
3

[\)
[©e]

[\)
©

N = E= P55 P P S 0 ) 2 A B ) ) e P B Y =1 P P E

wW
(e}
N

=~

2 AERREESE (LH)




